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Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
7,982 x 1000 = 1, 149 x 1000000 =
10,278 x 100 = 9,783 x 10000 =
7,251 x 10000 = 3,515 x 1000000 =
10, 488 x 1000 = 9,373 x 10000 =
10, 705 x 1000 = 7,11 x 1000 =
2,37 x 10000 = 4,991 x 1000000 =
2,379 x 10 = 4,974 x 1000000 =
5,767 x 1000000 = 6, 604 x 100000 =
2, 185 x 100000 = 1,053 x 100000 =
4,661 x 100 = 1,257 x 1000000 =
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Multiplique decimais por poténcias de dez

Nome:

7,982 x 1000 = 7982

10,278 x 100 = 1027.8

7,251 x 10000 = 72510

10, 488 x 1000 = 10488

10, 705 x 1000 = 10705

2,37 x 10000 = 23700

2,379 x 10 =23.79

5,767 x 1000000 = 5767000

2, 185 x 100000 = 218500

4,661 x 100 = 466.1

Encontro: Data: Pontuacao:

1, 149 x 1000000 = 1149000
9,783 x 10000 = 97830
3,515 x 1000000 = 3515000
9,373 x 10000 = 93730
7,11 x 1000 = 7110

4,991 x 1000000 = 4991000
4,974 x 1000000 = 4974000
6, 604 x 100000 = 660400
1,053 x 100000 = 105300

1,257 x 1000000 = 1257000
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